## Problem 1

Use the method of Lagrange multipliers to find the point on the plane so that the functions f(x, y, z) has the least value.

$$f(x, y, z) = 4x^2 + y^2 + 5z^2$$

$$2x + 3y + 4z = 12$$

$$\frac{2}{3}5 = \lambda$$

$$4x = \lambda = \frac{5}{2}z$$

$$\frac{8\times}{5} = 7$$

This

$$2\times +3(6\times) + 4(9\times) = 12$$

$$2 \times + 18 \times + \frac{32}{5} = 12$$

$$20\times \pm \frac{32\times}{5} = 12$$

$$\frac{132\times}{5}=12$$

$$X = \frac{60}{132} = \frac{30}{66} = \frac{5}{11}$$

So 
$$y = 6x = \frac{30}{11}$$
  $z = \frac{8}{5} = \frac{8}{11}$ 

$$2 = \frac{8}{5} = \frac{8}{11}$$

2x+35+42=12

(5, 30, 8) will be the point.

## Problem 2

Use the method of Lagrange multipliers to find the point on the plane so that the function f(x, y, z) has the maximum value. assume that x, y, and  $z \ge 0$ .

f(x, y, z) = xyz

$$5x + y + 10z = 30$$

$$f_x = \lambda g_x$$

$$xy = 10\lambda$$

$$\frac{\times 5}{10} = \lambda$$

$$15x = 33$$

## Problem 3

Use the method of Lagrange multipliers to find the point on the ellipsoid so that the function f(x, y, z) has the maximum value.

y = 3×

$$f(x,y,z) = 4x + 24y - 10z$$

$$x^{2} + 4y^{2} + 5z^{2} = 9$$

$$f_{x} = \lambda g_{x}$$

$$f_{y} = \lambda g_{y}$$

$$f_{y} = \lambda g_{y}$$

$$f_{z} = \lambda g_{z}$$

$$f_{z}$$

$$x^{2} + 45^{2} + 52^{2} = 9$$
 $x^{2} + 4 \cdot 9 \times^{2} + 5 \cdot 4 \times^{2} = 9$ 
 $x^{2} + 9 \times^{2} + 5 \cdot 4 \times^{2} = 9$ 
 $x^{2} + 6 \times^{2} + 5 \cdot 4 \times^{2} = 9$ 
 $x^{2} + 5 \cdot 4 \times^{2} = 9$ 
 $x^{2} + 5 \cdot 4 \times^{2} = 9$ 
 $x^{2} + 5 \cdot 4 \times^{2} = 9$ 
 $y \times x^{2} + 5 \cdot 4 \times^{2} = 9$ 
 $y \times x^{2} + 5 \cdot 4 \times^{2} = 9$ 
 $y \times x^{2} + 5 \cdot 4 \times^{2} = 9$ 
 $y \times x^{2} + 5 \cdot 4 \times^{2} = 9$ 
 $y \times x^{2} + 5 \cdot 4 \times^{2} = 9$ 
 $y \times x^{2} + 5 \cdot 4 \times^{2} = 9$ 
 $y \times x^{2} + 5 \cdot 4 \times^{2} = 9$ 
 $y \times x^{2} + 5 \cdot 4 \times^{2} = 9$ 
 $y \times x^{2} + 5 \cdot 4 \times^{2} = 9$ 
 $y \times x^{2} + 5 \cdot 4 \times^{2} = 9$ 
 $y \times x^{2} + 5 \cdot 4 \times^{2} = 9$ 
 $y \times x^{2} + 5 \cdot 4 \times^{2} = 9$ 
 $y \times x^{2} + 5 \cdot 4 \times^{2} = 9$ 
 $y \times x^{2} + 5 \cdot 4 \times^{2} = 9$ 
 $y \times x^{2} + 5 \cdot 4 \times^{2} = 9$ 
 $y \times x^{2} + 5 \cdot 4 \times^{2} = 9$ 
 $y \times x^{2} + 5 \cdot 4 \times^{2} = 9$ 
 $y \times x^{2} + 5 \cdot 4 \times^{2} = 9$ 
 $y \times x^{2} + 5 \cdot 4 \times^{2} = 9$ 
 $y \times x^{2} + 5 \cdot 4 \times^{2} = 9$ 
 $y \times x^{2} + 5 \cdot 4 \times^{2} = 9$ 
 $y \times x^{2} + 5 \cdot 4 \times^{2} = 9$ 
 $y \times x^{2} + 5 \cdot 4 \times^{2} = 9$ 
 $y \times x^{2} + 5 \cdot 4 \times^{2} = 9$ 
 $y \times x^{2} + 5 \cdot 4 \times^{2} = 9$ 
 $y \times x^{2} + 5 \cdot 4 \times^{2} = 9$ 
 $y \times x^{2} + 5 \cdot 4 \times^{2} = 9$ 
 $y \times x^{2} + 5 \cdot 4 \times^{2} = 9$ 
 $y \times x^{2} + 5 \cdot 4 \times^{2} = 9$ 
 $y \times x^{2} + 5 \cdot 4 \times^{2} = 9$ 
 $y \times x^{2} + 5 \cdot 4 \times^{2} = 9$ 
 $y \times x^{2} + 5 \cdot 4 \times^{2} = 9$ 
 $y \times x^{2} + 5 \cdot 4 \times^{2} = 9$ 
 $y \times x^{2} + 5 \cdot 4 \times^{2} = 9$ 
 $y \times x^{2} + 5 \cdot 4 \times^{2} = 9$ 
 $y \times x^{2} + 5 \cdot 4 \times^{2} = 9$ 
 $y \times x^{2} + 5 \cdot 4 \times^{2} = 9$ 
 $y \times x^{2} + 5 \cdot 4 \times^{2} = 9$ 
 $y \times x^{2} + 5 \cdot 4 \times^{2} = 9$ 
 $y \times x^{2} + 5 \cdot 4 \times^{2} = 9$ 
 $y \times x^{2} + 5 \cdot 4 \times^{2} = 9$ 
 $y \times x^{2} + 5 \cdot 4 \times^{2} = 9$ 
 $y \times x^{2} + 5 \cdot 4 \times^{2} = 9$ 
 $y \times x^{2} + 5 \cdot 4 \times^{2} = 9$ 
 $y \times x^{2} + 5 \cdot 4 \times^{2} = 9$ 
 $y \times x^{2} + 5 \cdot 4 \times^{2} = 9$ 
 $y \times x^{2} + 5 \cdot 4 \times^{2} = 9$ 
 $y \times x^{2} + 5 \cdot 4 \times^{2} = 9$ 
 $y \times x^{2} + 5 \cdot 4 \times^{2} = 9$ 
 $y \times x^{2} + 5 \cdot 4 \times^{2} = 9$ 
 $y \times x^{2} + 5 \cdot 4 \times^{2} = 9$ 
 $y \times x^{2} + 5 \cdot 4 \times^{2} = 9$ 
 $y \times x^{2} + 5 \cdot 4 \times^{2} = 9$ 
 $y \times x^{2} + 5 \cdot 4 \times^{2} = 9$ 
 $y \times x^{2} + 5 \cdot 4 \times^{2} = 9$ 
 $y \times x^{2} + 5 \cdot 4 \times^{2} = 9$ 
 $y \times x^{2} + 5 \cdot 4 \times^{2} = 9$ 
 $y \times x^{2} + 5 \cdot 4 \times^{2} = 9$ 
 $y \times x^{2} + 5 \cdot 4 \times^{2} = 9$ 
 $y \times x^{2} + 5 \cdot 4 \times^{2} = 9$ 
 $y \times x^{2} + 5 \cdot 4 \times^{2}$ 

